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select * from user where name= “ABC" and password=4242431 or 1=1;
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for(String ss:strs){
System.out.printin(ss);

hR=:
Iterator it=strs.iterator();
while(it.hasNext()){
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public class TestArrayList {
public void test(){
List<String> strs=new ArrayList<String> ();
String s="";
while(!s.equals("#")){
s=JOptionPane.show/nputDialog(" B NERFHFRER, LI#E
R
strs.add(s);
} wme | mE
for(String ss:strs){
System.out.printin(ss);
}
}
public static void main(String[] args){
TestArrayList t=new TestArrayList();
t.test();
}
}
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for(int i=0;i<strs.size();i++){
String ss=strs.get(i);
System.out.printin(ss);
}
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String ss=(String)it.next();
System.out.printin(ss);

}
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1. id int primary key | F
auto_increment
2. name varchar (20) not null W44
3. dept varchar (50) FAAT
% 4. mark varchar (20) FRiR ‘
B 5. phone varchar (20) FHL W= | GitE
6. email varchar (30) HigE]
7. tel varchar (20) fi] 72 HL 1%
8. workGroup | varchar (20) TAEH
9. address varchar (50) ik
10. | note text &VE
public class Friend { AT RGBT, Y ny sl 44
private int ic K, 5 R P TR
private String name;
private String dept; s
private String mark; 1‘%%_%%
private String phone; 2 @M =7E4
private String email; 3.JE MR A St v =7 B 2R AR
2% private String tel; (1) Varchar=>String ,
o private String workGroup; . . =l iy
Skt private String address; (2) int=>int
private String note; (3) text>String
public int getld() {
return id;
}
public void setld(int id) {
this.id = id;
}
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Friend f=new Friend();
f.setName(tfs[0].getText();
f.setDept(tfs[1].getText());
f.setMark(tfs[2].getText();
f.setPhone(tfs[3].getText()); WS | iR
f.setEmail(tfs[4].getText();
f.setTel(tfs[5].getText();
f.setWorkGroup(tfs[6].getText());
f.setAddress(tfs[7].getText());
f.setNote(tfs[8].getText());
2. 551k, A Friend X Gafi N B 4
(D HIRAER KRR, —FILEKMH D RIK R,
(2) JUEIE:
Friend 28: X Friend & H R 31T 35 2%
FriendManager 2%, %} Friend 31 T#1E
«xFrame 28, A ' /R BB R I N A BURAE
5
#47 | FriendManager Frh, HI7E InsertFriend,  SEILKEECHE 4R B8 2 2 o
public int insertFriend(Friend f){
inti=0;
try{
Connection conn=this.getConn():
String sql="insert into friend "
+ "(name,dept,mark,phone email tel, workGroup,address,note) "
+ "values(?,2,2,2,2,222 )", 4
PreparedStatement ps=conn.prepargStatement(s I%;_,} ‘ - TN 23]
setstring(L, f.getN . 5qh§ﬂfﬂ1§ﬂ%~ skCETER, s
b setstrfo2 TlgetDept i | e

ps.setString(3, f.get : L IAkRicE S ? sqhBaI
ps.setString(4, f.getPhone(); 5Tk N
ps.setString(5, f.getEmail();
ps.setString(6, f.getTel(); Py n
ps.setString(7, f.getWorkGroup()); fg;ﬂ% - ARSI
ps.setString(8, f.getAddress()); e :
ps.setString(9, f.getNote());
i=ps.executeUpdate();
this.closeConn(conn);

Jcatch(Exception ex){
ex.printStackTrace();

}

return i;

}
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FriendManager fm=new FriendManager();
int i=fm.insertFriend(f);
if(i>0){
JOptionPane.showMessageDialog(null, "BEZ AGN0RTH | ™);
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select * from user where name= “?" and password=7?;
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select * from user where name="ABC" and password=4242431or1=1;
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public ArrayList getAllFriends(){
ArraylList fs=new ArrayList();
try{ .
Connection conn=thi5.qetC0nn{};T“'l@iﬁm
String sql="select * from I‘riends";'Pz's'qh”‘EJ
[ Statement stmt=conn.createStatement{};]
[ResultSet rs=stmt.executeQuery(sql)]
While(rs.next()){ N 3kEERTINE
, Friend f=new Friend(); 4. EREGRIN
¥ fsetAddress(rs.getString("address")); pEme
5.4k f.setDept(rs.getString("dept™);
HEfS  f.setEmail(rs.getString("email"));
MANE fsetld(rs.getInt("id");
£ f.setMark(rs.getString("mark™));
f.setName(rs.getString("name"));
f.setNote(rs.getString("note"));
f.setPhone(rs.getString("phone™));
f.setTel(rs.getString("tel™);
f.setWorkGroup(rs.getString("workGroup"));
fs.add(f);

1
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| this.closeConn(conn){— 6. Bl
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public void showFriends(){
FriendManager fm=new FriendManager();
fs=fm.getAllFriends();
for(Friend f:fs){
String[] f_array=new String[4];
f_array[0]=f.getName();
f_array[1]=f.getDept();
f_array[2]=f.getPhone();
f_array[3]=f.getWorkGroup();
data.addRow(f_array);
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public class MyMouselistener implements Mouselistener{

@Override
public void| mouseClicked(MouseEvent e) {

int row=table.getSelecte ;

Friend f_show=fs.get(row); ST

new FriendShowFrame(f_show); Wtifaihis
}
@Override
public voidlmouseEntered{MouseEvent e}]{
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@Override
public void lmouseExited{MouseEvent e) {]
b A BFEIRGT
@Override
2% public voidlmousePressed{Mouse Event e) l}ﬁﬁ}ﬁ?*ﬂﬁ
i }

@Override
public void mouseReleased(MouseEvent e) {|
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}
(2) K Bl br T 38 UE M 23R

table.addMouselListener(new MyMouselistener());
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int row=table.getSelectedRow();
Friend f_show=fs.get(row);
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public void showFriend(}{
Is2[0].setText(f.getName();
Is2[1].setText(f.getDept());
Is2[2].setText(f.getMark();
Is2[3].setText(f.getPhone());
Is2[4].setText(f.getEmail());
Is2[5].setText(f.getTel()};
Is2[6].setText(f.getWorkGroup());
Is2[7].setText(f.getAddress();
Is2[8].setText(f.getNote());

J

Exception in thread "AWT-EventQueue-0" java.lang.ArrayindexOutOfBoundsException: -1
at java.util ArrayList.get(Unknown Source)
at unit2.job3.FriendListFrame$MyMouselistener.mouseClicked(EriendlistFrame.java:70)
at java.awt. AWTEventMulticaster. mouseClicked(Unknown Source)
at java.awt.Component.processMouseEvent(Unknown Source)
at javax.swing.JComponent.processiMousekvent{Unknown Source)

. at java.awt.Component.processEvent(Unknown Source)
%‘&‘%ﬁ at java.awt.Container.processEvent(Unknown Source)

at java.awt.Component.dispatchEventimpl(Unknown Source)
at java.awt.Container.dispatchEventimpl{Unknown Source)

‘ i table.setEnabled(false);
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